byKkKBeHHas 3anuc
CBOMCTB CJ10)KeHus
BblUMNTaH




YnpocCcTuTb U BbIYUNCIINTD

52+(48+93)=



52+(48+93)=
(52+48)+93=



52+(48+93)=
(52+48)+93=
100+93=193



CoyetTaTenbHoOe
CBOMUCTBO CJI0OXXEeHUs

a+(b+c)=(a+b)+c=a+b+c



NMpumep 1

324+892+108=



324+892+108=
324+(892+108)=



324+892+108=
324+(892+108)=
324+1000=1324



NMpumMmep 2

294+ Xx+11=



29+x+11=
(29+11)+x=



29+x+11=
(29+11)+x=40+x



NMpumep 3

X+307+100=



X+307+100=
X+(307+100)=
X+407



YNnpoCTUTb U BbIMUCJINTD

185-(85+28)=



185-(85+28)=
(185-85)-28=



185-(85+28)=
(185-85)-28=
100-28=72



CBOMCTBO BblUUTAHUSRA
CYMMbI U3 YNCNa

a-(b+c)=a-b-c



NMpumMmep 1

329-(170+29)=



329-(170+29)=
(329-29)-170=



329-(170+29)=
(329-29)-170=
300-170=130



NMpumep 2

48-(18+x)=



48-(18+x)=48-18-X



48-(18+X)=
48-18-x= 30-x




NMpumep 3

79-(x+29)=



79-(x+29)=79-29-x



79-(x+29)=
79-29-x=50-Xx



YNnpoCTUTb U BbIMUCJINTD

(612+29)-412=



(612+29)-412=
(612-412)+29=



(612+29)-412=
(612-412)+29=
200+29=229



CBOMCTBO BblUMTaHUSA
4McJjia U3 CyYMMbl

(a+b)-c=(a-c)+b

(a+b)-c=(b-c)+a



NMpumep 1

(1074+495)-395=



(107+495)-395=
(495-395)+107=



(1074+495)-395=
(495-395)+107=
1004+107=207



NMpumep 2

(x+84)-20=



(x+84)-20=
(84-20)+x=



(x+84)-20=
(84-20)+x=64+Xx



NMpumep 3

(320+x)-100=



(320+x)-100=
(320-100)+x=



(320+x)-100=
(320-100)+x=220+X



CBOMCTBaA CJ/IOXKEHUsI m1
BbIUYMTaHUS

a+(b+c)=(a+b)+c=a+b+cC
a-(b+c)=a-b-c

(a+b)-c=(a-c)+b




fMpoBepb cebs!




1) 344+x+16=50+x
2) x+80+120=x+200

3) 82-(40+x)=42-Xx
4) 179-(x+100)=79-x
5) (x+80)-30=50+x
6) (45+x)-15=30+x



